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*  Use the crossing that yields the shorter SETUP and HOLD time
♦ Shall be detected
♥ May be detected

 VTNA  = -max[60mV or (0,25 xVN)]
 VTAN  = max [60 mV or (-0,25 x VA)]
 1,0 V ≥ VN ≥ 60 mV
-1,0 V ≤ VA ≤ -60 mV
Differential voltage signals in all cases

Notes:
1  TSU - Setup time.
2  TH - Hold time.
3   TL1/2 - May detect to Shall detect time.
4  TSK - Skew  time.
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5  TAP - Asserted time.
6  TNP - Negated time.
7   TTP - Transmitted period
8  TRP - Received period

TTP TRP

Timing Diagram
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Transmit Timing Equations

(1)    TTP = X- 0.6 ns

(2)   TTP  =  TAP +  TNP  +  TL1 + TL2

(3)    TNP = TH +  TL1  + TSK  + TSU  = TAP  - TASYM

(4)    TL1 = a TF                   TL2 = b TR 

For Fast 80:

(1)   TTP = 25 ns - 0.6 ns = 24.4 ns

(2)   TTP  = 11.5 ns + 11.5 ns + T L1 + TL2

(5)   From (1) & (2)  T L1 + TL2 = 24.4 ns - 23 ns = 1.4 ns

(3)   TNP = 4.8 ns + 0.7 ns + 1 ns + 4.8 ns = 11.3 ns = 11.5 ns- T ASYM

For Fast 40:

(1)   TTP = 50 ns - 0.6 ns = 49.4 ns

(2)   TTP  = 22.5 ns + 22.5 ns + T L1 + TL2

(5)   From (1) & (2)  T L1 + TL2 = 49.4 ns - 45 ns = 4.4 ns

(3)    TNP = 9.25 ns + 2.2 ns + 1 ns + 9.25 ns = 21.7 ns = 22.5 ns- T ASY

For Fast 20:

(1)   TTP = 100 ns - 0.6 ns = 99.4 ns

(2)   TTP  = 45 ns + 45 ns + T L1 + TL2

(5)   From (1) & (2)  T L1 + TL2 = 99.4 ns - 90 ns = 9.4 ns

(3)    TNP = 18.5 ns + 4.7 ns + 1 ns + 18.5 ns = 42.7 ns = 45 ns- T ASYM
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Receive Timing Equations
(1)    TRP = X- 0.7 ns

(2)   TTP  =  TAP +  TNP  +  TL1 + TL2

(3)    TNP = TH +  TL1  + TSK  + TSU + TSTSK  = TAP  - TASYM

(4)    TL1 = d TF                   TL2 = e TR 

For Fast 80:

(1)   TTP = 25 ns - 0.7 ns = 24.3 ns

(2)   TTP  = 10 ns + 10 ns + T L1 + TL2

(5)   From (1) & (2)  T L1 + TL2 = 24.3 ns - 20 ns

        = 4.3 ns

(3)   TNP = 1.45 ns + 2.15 ns + 1 ns + 1.45 ns + 3.35 ns 

         = 9.4 ns = 10 ns - T ASYM

For Fast 20:

(1)   TTP = 100 ns - 0.7 ns = 99.3 ns

(2)   TTP  = 40 ns + 40 ns + T L1 + TL2

(5)   From (1) & (2)  T L1 + TL2 = 99.3 ns - 80 ns = 19.3 ns

(3)    TNP = 11.5 ns + 9.65 ns + 1 ns + 11.5 ns + 13.3 ns 

              =46.95 ns  = 40 ns - T ASYM      ∴∴∴∴  TL1  = 2.1 ns

For Fast 40:

(1)   TTP = 50 ns - 0.7 ns = 49.3 ns

(2)   TTP  = 20 ns + 20 ns + T L1 + TL2

(5)   From (1) & (2)  T L1 + TL2 = 49.3 ns - 40 ns = 9.3 ns

(3)   TNP = 4.75 ns + 4.65 ns + 1 ns + 4.75 ns + 6.8 ns

             = 21.95 ns  = 20 ns - T ASYM        ∴∴∴∴  TL1  = 2.1 ns


